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@ Find all values of a such that the following system of equations has exactly one solu-
tion.

T+y—z=2
z+2y+2z=3

z+y+(a®*-5)z=a

Wnde  fthe sulem wundee He fam
A7 - b wih

/

A = , l - b = Z
) 2 3
| | a%*>5 a

Then He wlem adnds a wnigue
Mutior o deb@i-0 . we hue

def (A) - ——
HIL[") l 9
H,g,(’l) O a/za 4
= OLL' ‘I

Hene det@)+0 i [a+2 a+Z
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@ Determine all values of k such that the vectors (1,-1,0), (1,2,2), (0,3, k) are a basis
for R3.

Fum. He malhix

I 1 O
4:(4 2 3)
O 2 R

Then we have o o L detd)co.
Com pule.

I 1 O

de/'@)i'z’w o 3 2
O 2 £k

=3 (R-2)

Hence

detls) + 0 I  |&z2
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